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(5)HEfrEAY FE(C) C =W =+ (W/C) X 100 = 174 = 52 X 100 = 335 keg/m
Cv= C + #PFf = 335 ~ 3.04 = 110 £ /mi
(6) 2255 (A) = 4.5 % X 1000 = 45 £ /mi
(7)) HENCHEME(G) HITHOFEEICELY MHEEFE = 0.620 m/m ERER = 59.0 %
Gv = 0.620 X 1000 X 59.0 = 100 = 366 £ /ot
Glv = Gv X 40.0 % = 146 £ /m Gl= GlvXREHE = 146 X 2.65 = 387 kg/mi
G2v = Gv X 60.0 % = 220 £ /m G2= GWXFEWEE = 220 X 2.65 = 583  kg/mi
(8) BALMIEH & (S) Sv = 1000 — (W+Cv+Gv+A) = 1000 — 695 = 305 £ /m
Slv = Sv X 30.0 % = 92 2 /m S1= SIvXREEE = 92 X 2.76 = 254 kg/m
S2v = Sv X 70.0 % = 213 2 /m S2= SoyXKEEE = 213 X 2.62 = 558 kg/m
(9)HEME(s/a) s/a = Sv + (Gv+Sv) X 100 = 45.5 %
(10) HALIRFNAI & (Ad) Ad = C X JRINEE = 335 X 0.7000 % = 2.35 kg/m
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